@ x100_1 @ 3x

® 5

@ 2x+1




-3, —4x, x2-2x §—5, 3 x

@ 17) @ 27 @37H @ 47 ® 574




1 3 )
h 1 °x_2
4(8x+ 6)+6<2x

Ch "
H =

[ 2
> =g 11x-38

~&B

1 3 )
- (8x+16) + —X—
4(8 6) 6(2 2

=2x+4+4+9x-12
=11x-8




g FolA SR FolA] gre AL
1o 10 2712 272
© -3 3y @ -a?b?, a?b
1
@)=, 5x
x

® 3x%y, —x2y

® L. 52 7t B9} 2147} B2 2 SRl ok




5.  Tx—{bx+5y-(3x—2y+1)} = ItHs] & uf, x 2}y O] A50] S
“otofet.

> E.

> " -2

B

Tx—{5x+5y—-(3x-2y+1)}
=7x—(5x+5y-3x+2y-1)
=Tx—(2x+Ty—-1)
=Tx—2x-Ty+1
=bx—-Ty+1

urebA x ofy O] A9 25 - 7= -2 o]t




6.

A=-5x-4B=-x+3¢d, 2A+3BExo &
e H?

O -7x+10 @ -7x-10

® 7x+10
@75 +17 ® 7x-5

—2A +3B = -2(-5x—4) + 3(-x+ 3)
=10x+8—-3x+9
=Tx+17




7. 205+ |=-3x+4 A ¥l gho] Fgke 229

@D —x+3 @ -5x+3 ® -b5x
@ x-9 @)-5x+9

[ ]=-3x+4-(2x-5)
=-3x+4-2x+5
=-5x+9




o]

|

x

| (=)
o H
< L0
] =
N Il
o Il o
—~ —~ ._.
o0 [=2) —
+ 10
= = +
T =&

—_ =l

=4x-3

—

® (12x-9) x

@ (-4
@ (

(]
|
=
[
< 3
L
e M
—~ -l
8\'/
|T3
= +
=
D




11

.

ull
KO

EEE—
(@]

l_l

S

()

I

0

|T

]

(@]

+
5
.y
~ —~
g
e
N




10, x=2 y=-3 Aol doy- 202 9] G TohA?

MD)-10 @ -5 ® -2 @ 3

x=2, y=-3 & 4ol 5}
3xy — 2x2
:3><2><<——)—2><22

-2-8




